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ans=dsolwve ('Dm+0.025 *m=50+50*sin(c) *, "m (0} =150")
£=0:0.5:450

tn=subs (ans, t)

plot (t, ta)

grid on
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valuess[]
t=1:1:500 1000 { [
mean=1000- { (exp (-0.05%c) ) *800)
y=1000+(50/1.0025) *sin(t)+(2.5/1.0025) *cos (t)-( (exp (-0.05%c) ) *802.4 900 1
if rem(t,2) ==0 . BoD ]
values=[values, mean] ﬁ
else £ 700 i
values=[values, y] E
end _g 600 ]
excelvalues=transpose (values) >
minsstransposs(t) 500
ploc (c,values)
grid on 400
grid minor |
xlabel ('time (mins)') g
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xlswrite ('odevbesdata.xlsx", {"t(min)} '}, 'veriler', "Al') 50 100 150 200 250 350 400 450 500
xlswrice ('odevbesdata.xlsx’,mins, "*veriler’, "A2*") Iime[mins]
xlswrite ('odevbesdata.xIax", {"V(Litre) '), "veriler" "B1") T — 458
Xlswrite ("odevbesdata.xlax",excelvalues, "veriler',"'B2") 495
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